Line #	Water Softener Salt Produ	ucts			NE Water ning, Inc	Culligan of B & H Inves	f Kearney tments, Inc.	Culligar Conditioning	n Water g, Crete, NE	Culligan Water Conditioning, Percival, IA	
Į÷Ī	Description	Qty	U/M	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
	McCook Work Ethic Camp	200	bg		\$ -		\$ -		\$ -		\$ -
	Brand, type and bag size:										
1	Pallet size (bag per pallet):										
	Add charge for small qty purchase	e:									
	Deduct if pick up by facility:										
	Lincoln Regional Center	200	bg		\$ -		\$ -		\$ -		\$ -
	Brand, type and bag size:										
2	Pallet size (bag per pallet):										
	Add charge for small qty purchase	e:									
	Deduct if pick up by facility:										
	Nebraska Dept of Roads	300	bg		\$ -		\$ -		\$ -		\$ -
	Brand, type and bag size:										
3	Pallet size (bag per pallet):										
	Add charge for small qty purchase	e:									
	Deduct if pick up by facility:										
	Cornhusker State Industries	200	bg		\$ -		\$ -		\$ -		\$ -
	Brand, type and bag size:										
	Pallet size (bag per pallet):										
4	Add charge for small qty purchase	e:									
	Deduct if pick up by facility:										
	Truckload bag quantity										
	Truckload bag price										
	Comments										

# 91	Water Softener Salt Prod	ucts		NE Water ning, Inc	Culligan of B & H Inves	f Kearney	Culligai Conditioning	n Water	Culligan Water Conditioning, Percival, IA		
Line	Description	Qty	U/M		Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	
	DCS Central Warehouse	2400		\$ -		\$ -		\$ -		\$ -	
	Brand, type and bag size:										
	Pallet size (bag per pallet):										
5	Add charge for small qty purchase:										
	Deduct if pick up by facility:										
	Truckload bag quantity										
	Truckload bag price										
	Comments										
	Comm Correctional Center- Omaha	50	bg	\$ -		\$ -		\$ -		\$ -	
6	Brand, type and bag size:										
6	Pallet size (bag per pallet):										
	Add charge for small qty purchase:										
	Deduct if pick up by facility:										
	Omaha Correctional Center	1200	bg	\$ -		\$ -		\$ -		\$ -	
7	Brand, type and bag size:										
ľ	Pallet size (bag per pallet):										
	Add charge for small qty purchas Deduct if pick up by facility:	e:									
	Eastern Nebr Veterans Home	760	bg	\$ -		\$ -		\$ -		\$ -	
		700	by	ψ -		Ψ -		Ψ -		Ψ -	
8	Brand, type and bag size:										
°	Pallet size (bag per pallet):										
	Add charge for small qty purchase:										
	Deduct if pick up by facility:										

Line #	Water Softener Salt Produ	ucts			NE Water oning, Inc	Culligan o		Culligar Conditioning	n Water g, Crete, NE	Culligan Water Conditioning, Percival, IA	
Ľ	Description	Qty	U/M	Unit Price		Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
	Beatrice State Development Ctr	588	bg		\$ -		\$ -	\$ 4.99	\$ 2,934.12		\$ -
9	Brand, type and bag size:							Culligan Sola bag (Pro S	r Coarse 50# Soft Label)		
9	Pallet size (bag per pallet):								9		
	Add charge for small qty purchase	e:						ba	less than 98 gs		
	Deduct if pick up by facility:							N/A			
	Beatrice State Development Ctr	588	bg		\$ -		\$ -	\$ 5.49	\$ 3,228.12		\$ -
10	Brand, type and bag size:							North America	an 50# Pellets		
10	Pallet size (bag per pallet):	Pallet size (bag per pallet):							9		
	Add charge for small qty purchase:							.50 per bag if less than 98 bags			
	Deduct if pick up by facility:								/A		
	Tecumseh State Corr Facility 2450 bg		bg		\$ -		\$ -	\$ 5.74	\$ 14,063.00		\$ 24,010.00
	Brand, type and bag size:							North America	an 50# Pellets		bag
	Pallet size (bag per pallet):								9	49 pei	r pallet
11		Add charge for small qty purchase:							Pricing Only r Truck Load)		a bag
	Deduct if pick up by facility:							-	/A		a bag
	Truckload bag quantity							88 e.c.			32
	Truckload bag price								.74	Φ9	.80
	Comments							Truck Load	Pricing Only!!		
	Tecumseh CSI	3240	bg		\$ -		\$ -		\$ 23,328.00		\$ 21,870.00
	Brand, type and bag size:							Culligan Coa (North A			an Solar - 50 pag
	Pallet size (bag per pallet):							3	0	49 pei	<sup>r</sup> pallet
12		Add charge for small qty purchase:						1.00 per bag 540 bags (tri	g if less than uckload only)	25¢	a bag
	Deduct if pick up by facility:	Deduct if pick up by facility:						N	/A		a bag
	Truckload bag quantity								10		30
	Truckload bag price							\$7	.20	\$6	.75
	Comments										

Line #	Water Softener Salt Produ	ucts			NE Water oning, Inc	Culligan o	f Kearney tments. Inc.	Culligar Conditioning		Culligan Water Conditioning, Percival, IA		
اِۃ	Description	Qty	U/M	Unit Price		Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	
	Hastings Regional Center	588	bg		\$ -		\$ -		\$ -		\$ -	
	Brand, type and bag size:											
13	Pallet size (bag per pallet):											
	Add charge for small qty purchase	e:										
	Deduct if pick up by facility:											
	Grand Island Veteran's Home	1176	bg	\$ 4.83	T - /		\$ -		\$ -		\$ -	
	Brand, type and bag size:		o Soft Extra Solar 50#									
	Pallet size (bag per pallet):			4	19							
١.,	Add charge for small qty purchase	e:		\$	0.00							
14	Deduct if pick up by facility:			\$	0.00							
	Comments		Law Enfo	es Nebraska orcement enter, Grand and								
	Kearney Youth Development Ctr	882	bg		\$ -	\$ 4.50	\$ 3,969.00		\$ -		\$ -	
15	Brand, type and bag size:					Culligan 50	lb Solar Salt					
113	Pallet size (bag per pallet):					4	~					
	Add charge for small qty purchase	e:				50¢ p	er bag					
	Deduct if pick up by facility:					No	ne					
	Fort Robinson State Park	10	bg		\$ -	\$ 4.50			\$ -		\$ -	
	Brand, type and bag size:					Culligan Sol						
	Pallet size (bag per pallet):					4	•					
	Add charge for small qty purchase	э:					<del>er bag</del>					
	Deduct if pick up by facility:					-No	one-					
	Mahoney State Park	180	bg		\$ -		\$ -		\$ -		\$ -	
	Brand, type and bag size:											
17	Pallet size (bag per pallet):											
	Add charge for small qty purchase:											
	Deduct if pick up by facility:											

#	Water Softener Salt Produ	ucts			NE Water ning, Inc	Culligan o	f Kearney	Culligar Conditioning		Culligan Water Conditioning, Percival, IA		
Line	Description	Qty	LI/M	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	
H	Platte River State Park	150	bg	OTHET HOC	\$ -	OTHER FIGE	\$ -	Office 1100	\$ -		\$ 1,012.50	
	rate river state rain	100	νg		Ψ		Ψ		Ψ		an Solar - 50	
	Brand, type and bag size:									lb bag - \$6.7	5 a bag pallet	
										lo	ad	
18	Pallet size (bag per pallet):									4	.9	
	Add charge for small qty purchase	e:								2	5¢	
	Deduct if pick up by facility:									.1	0¢	
	Lake McConaughy SRA	10	bg		\$ -		\$ -		\$ -		\$ -	
	Brand, type and bag size:											
19	Pallet size (bag per pallet):											
	Add charge for small qty purchase	e:										
	Deduct if pick up by facility:			-							,	
	NE Correctional Center for Women	250	bg		\$ -		\$ -		\$ -		\$ -	
20	Brand, type and bag size:											
	Pallet size (bag per pallet):											
	Add charge for small qty purchase	e:										
	Deduct if pick up by facility:											
	NE Correctional Youth Facility	50	bg		\$ -		\$ -		\$ -		\$ -	
21	Brand, type and bag size:											
	Pallet size (bag per pallet):											
	Add charge for small qty purchase	э:										
	Deduct if pick up by facility:											
	yment Terms			Net 30				0%, 30		1%, 10		
De	elivery Days ARO							1	0	3	30	

Opening Date: 09/24/08

Line #	Water Softener Salt Produ	ucts		Glenwoo Industria		Hague Qu	ality Water	Hall's	Culligan	
	Description	Qty	U/M	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	
	McCook Work Ethic Camp	200	bg	N/B		no bid			\$ -	
	Brand, type and bag size:									
1	Pallet size (bag per pallet):									
	Add charge for small qty purchase	e:								
	Deduct if pick up by facility:									
	Lincoln Regional Center	200	bg	\$ 4.80	\$ 960.00		\$ 1,438.00	\$ 5.45	\$ 1,090.00	
	Brand, type and bag size:			American Sh	ur Soft Solar		rican Extra ar Salt 50#	Culligan	Solar 50#	
2	Pallet size (bag per pallet): Add charge for small qty purchase:		4	9	4	9		bags		
			\$1.00	)/bag	\$1.20	oer bag	\$6.45 per bag less tha 2 pallets per drop			
	Deduct if pick up by facility:			N	/A	\$2.00 p	er bag	\$5.10		
	Nebraska Dept of Roads	300	bg	\$ 5.35	\$ 1,605.00	\$ 7.19	\$ 2,157.00	\$ 5.45	\$ 1,635.00	
	Brand, type and bag size:			ond Crystal s, 50 lb	North Ame Coarse So		Culligan So	lar 50# bags		
3	Pallet size (bag per pallet):			4	9	4	9	49 bags	per pallet	
	Add charge for small qty purchase	e:		\$1.00	)/bag	\$1.20	per bag		bag if less ets per drop	
	Deduct if pick up by facility:			N	/A	\$2.00 բ	oer bag	\$5.10		
	Cornhusker State Industries	200	bg	\$ 4.80	\$ 960.00	\$ 7.19	\$ 1,438.00	\$ 5.45	\$ 1,090.00	
	Brand, type and bag size:	Brand, type and bag size:		American Sh	*	North Ame Coarse So	rican Extra ar Salt 50#	50# Culli	gan Solar	
	Pallet size (bag per pallet):			4	9	4	9		per pallet	
4	Add charge for small qty purchase		\$1.00	)/bag	\$1.20	oer bag	\$6.45 per bag if less than 2 pallets per drop			
	Deduct if pick up by facility:			N	/A	\$2.00 p	er bag	\$5.10	per bag	
	Truckload bag quantity			490		882 - 1	8 pallets	882 bags	(18 pallets)	
	Truckload bag price	\$4.65			er bag	\$4.65	per bag			
	Comments						delivered to -you unload			

Line #	Water Softener Salt Produ	ucts		Glenwoo Industria			На	gue Qu	ality \	Nater	Hall's	Culligan
	Description	Qty	U/M	Unit Price	Ext.	Price	Unit	Price	Ext	t. Price	Unit Price	Ext. Price
	DCS Central Warehouse	2400	bg	\$ 4.80	\$ 11,5	520.00	\$	7.19	\$ 17	7,256.00	\$ 5.45 \$ 13,080.00	
	Brand, type and bag size:			American Shur Soft Solar			North American Extra Coarse Solar Salt 50#				50# Culligan Solar	
	Pallet size (bag per pallet):			49			49					per pallet
5	Add charge for small qty purchase	e:		\$1.00/bag			\$1.20 per bag			ag		ess than 2 per drop
	Deduct if pick up by facility:			N.	/A			\$2.00 p	er ba	ag		5.10
	Truckload bag quantity			49	_			882 - 18				(18 pallets)
	Truckload bag price			\$4.	65			4.91 p			\$4.65	per bag
	Comments				Truckload delivered to your facility-you unload							
	Comm Correctional Center- Omaha	50	bg	\$ 5.35	\$ 2	267.50	\$	7.19	\$	359.50		\$ -
6	Brand, type and bag size:			Cargill Diam Pel		rystal		rth Ame arse Sol			50# Cull	igan Solar
0	Pallet size (bag per pallet):			4	9			4	9		49 bags	per pallet
	Add charge for small qty purchase	e:		1.00/bag			\$1.20 per bag			ag	\$7.65 per bag if les than 2 pallets per dro	
	Deduct if pick up by facility:			N/A			\$2.00 per bag			ag	\$5.10	per bag
	Omaha Correctional Center	1200	bg			420.00	\$ 7.19 \$ 8,628.00					\$ -
7	Brand, type and bag size:	1 1 3				rystal	North American Extra Coarse Solar Salt 50#					
ľ	Pallet size (bag per pallet):			4	_			4	-			
	Add charge for small qty purchase	э:		1.00				\$1.20				
	Deduct if pick up by facility:				/A			\$2.00 p		•		
	Eastern Nebr Veterans Home	760	bg	\$ 4.80	\$ 3,6	648.00	-			5,464.40		\$ -
8	Brand, type and bag size:	Brand, type and bag size:			American Shur Soft Solar			North American Extra Coarse Solar Salt 50#				
0	Pallet size (bag per pallet):			49			49			_		
1	Add charge for small qty purchase:			1.00/bag			\$1.20 per bag			•		
	Deduct if pick up by facility:			N.	/A		\$2.00 per bag			ag		

Line #	Water Softener Salt Produ	ucts		Glenwoo Industria		Hague Qua	ality Water	Hall's	Culligan	
	Description	Qty	U/M	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	
	Beatrice State Development Ctr	588	bg	\$ 4.80	\$ 2,822.40				\$ -	
9	Brand, type and bag size:			American Sh	ur Soft Solar	North Ame Coarse Sol	rican Extra ar Salt 50#			
9	Pallet size (bag per pallet):			4	9	4	9			
	Add charge for small qty purchase	e:		1.00	ŭ	\$1.20	oer bag			
	Deduct if pick up by facility:		N	/A	\$2.00 p	oer bag				
	Beatrice State Development Ctr	588	bg	\$ 5.35	\$ 3,145.80	\$ 7.19	\$ 4,227.72		\$ -	
10	Brand, type and bag size:			Cargill Diam Pel		North Ame Coarse Sol				
10	Pallet size (bag per pallet):			4	9	4	9			
	Add charge for small qty purchase		1.00	/bag	\$1.20	per bag				
	Deduct if pick up by facility:			N	/A	\$2.00 p	er bag			
	Tecumseh State Corr Facility	bg		\$ 13,107.50		\$ 20,065.50	\$ 5.85	\$ 14,332.50		
	Brand, type and bag size:	Cargill Diam Pel	ond Crystal lets	North Ame Coarse Sol		Culligan	Solar 50#			
	Pallet size (bag per pallet):	4	9	4	9		per pallet			
11	Add charge for small qty purchase	e:		1.00	/bag	\$1.	.20		r bag if less ets per drop	
	Deduct if pick up by facility:				/A	\$3.		\$5.10 per bag		
	Truckload bag quantity			49		882 - 18	•	882 bag (18 pallets)		
	Truckload bag price			\$5.	.15		per bag	\$4.65	per bag	
	Comments						delivered to			
$\vdash$	Tecumseh CSI	3240	bg	\$ 4.80	\$ 15,552.00	your facility \$ 8.19	\$ 26,535.60	\$ 5.85	\$ 18,954.00	
	Brand, type and bag size:	3240	by	American Sh	ur Soft Solar		rican Extra		Solar 50#	
	Pallet size (bag per pallet):			4		4		49 bags	per pallet	
12	A dal alcana fan anall atransmala a	e:		1.00	-	\$1.	-	\$6.85 pe	r bag if less ets per drop	
	Deduct if pick up by facility:	N	/A	\$3.	.00		per bag			
	Truckload bag quantity			490 ا	bags	882 - 18	3 pallets		(18 pallets)	
	Truckload bag price	\$4.			per bag	\$4.65 per bag				
L	Comments			Truckload of your facility	delivered to -you unload					

Line #	Water Softener Salt Produ	ucts			d Feed & al Supply	Hague Qu	ality Water	Hall's	Culligan	
Π	Description	Qty	U/M	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price	
	Hastings Regional Center	588	bg	N/B		No Bid			\$ -	
	Brand, type and bag size:									
13	Pallet size (bag per pallet):									
	Add charge for small qty purchase	e:								
	Deduct if pick up by facility:									
	Grand Island Veteran's Home	1176	bg	N/B		No Bid			\$ -	
	Brand, type and bag size:									
	Pallet size (bag per pallet):									
	Add charge for small qty purchase									
14	Deduct if pick up by facility:									
	Comments									
	Kearney Youth Development Ctr	882	bg	N/B		No Bid			\$ -	
15	Brand, type and bag size:									
13	Pallet size (bag per pallet):									
	Add charge for small qty purchase	e:								
	Deduct if pick up by facility:									
	Fort Robinson State Park	10	bg	N/B		No Bid			\$ -	
	Brand, type and bag size:									
16	Pallet size (bag per pallet):									
	Add charge for small qty purchase	e:								
	Deduct if pick up by facility:									
	Mahoney State Park 180 bg		bg	\$ 5.95	\$ 1,071.00		\$ 1,294.20	\$ 6.85	\$ 1,233.00	
	Brand, type and bag size:			American Sh	ur Soft Solar		rican Extra lar Salt 50#	Culligan Solar 50#		
17	Pallet size (bag per pallet):			4	9	4	.9		per pallet	
	Add charge for small qty purchase:			¢1.00	D/bag	¢1.20	per bag	\$7.65 per bag if less		
1	,,,,				=	,	. •	than 2 pallets per drop		
	Deduct if pick up by facility:			N	/A	\$2	.00	\$5.10 per bag		

Line #	Water Softener Salt Produ	ucts		Glenwoo Industria		Hague Qua	ality Water	Hall's	Culligan
	Description	Qty	U/M	Unit Price	Ext. Price	Unit Price	Ext. Price	Unit Price	Ext. Price
	Platte River State Park	150	bg	\$ 5.95	\$ 892.50	\$ 7.19	\$ 1,078.50	\$ 6.85	\$ 1,027.50
	Brand, type and bag size:			American Sh 50		North Ame Coarse Sol		Culligan Solar 50#	
18	Pallet size (bag per pallet):			4	9	4	9	49 bags	per pallet
	Add charge for small qty purchase	<b>ə</b> :				\$1.	.20		r bag if less lets per drop
	Deduct if pick up by facility:					\$2.	.00	\$5.10	per bag
	Lake McConaughy SRA	10	bg	N/B		No Bid			\$ -
	Brand, type and bag size:								
19	Pallet size (bag per pallet):								
	Add charge for small qty purchase:								
	Deduct if pick up by facility:								
	NE Correctional Center for Women	250	bg	N/B		\$ 8.19	\$ 2,047.50		\$ -
20	Brand, type and bag size:					North Ame Coarse Sol			
	Pallet size (bag per pallet):					4	-		
	Add charge for small qty purchase	э:				\$1.			
	Deduct if pick up by facility:					\$3.			
	NE Correctional Youth Facility	50	bg	\$ 5.95					\$ -
21	Brand, type and bag size:			Cargill Diam Pel		North Ame Coarse Sol			
	Pallet size (bag per pallet):			4	9	4	9		
	Add charge for small qty purchase:			1.00	/bag	\$1.			
	Deduct if pick up by facility:			N.	/A	\$2.	.00		
	Payment Terms			0%,		0%,			
De	elivery Days ARO			7	7	1	0	10	